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b3-ch1-3.Py

import pandas as pd

# OOl =2 g 2H=7|

dfl = pd.DataFrame({'name' :[' & 7| &', &r=S AN G| A E" ' X SE,
'prin' :[98,100,50,50,80,90,30,80,65,95],

'micro' :[82,92,45,100,95,60,30,25,70,90],

'macro' :[95,80,75,100,95,60,30,25,70,90]})

df1

print("Data Frame of dfl1is :", f'\n{df1}\n')

b3-ch1-3.py Al S Z uf

runfile('C:/BOOK/PyBasics/PyEda/code/b3-ch1-3.py', wdir='C:/BOOK/PyBasics/PyEda/code')
Data Frame of dfl is :

name prin micro macro
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(derived variable)2t1l &

b3-ch1-3.Py(AlZ) A

Data Frame of dflis ;
dfl['mean'] = (df1['prin'] + df1['micro'] + df1['macro'])/3

name prin micro macro mean
print("Data Frame of dfl is ;",f\n{df1}\n')

0 Z7|Z 98 82 95 91.666667
100 92 80 90.666667
50 45 75 56.666667
50 100 83.333333
80 95 90.000000
90 60 70.000000
30 30 30.000000
80 25 43.333333

# = F O|85H0] It 57|

bt
=
&

df1['P/F'] = np.where(df1['mean']>=60, 'pass', 'fail')
print("Data Frame of dfl is ;",f\n{df1}\n")

dfl['grade'] = np.where(df1['mean']>=90, 'A’,
np.where(dfl['mean']>=80, 'B',

np.where(dfl['mean']>=70, 'C',

o
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65 70 68.333333
np.where(df1['mean']>=60, 'D', 'F'))))

print("Data Frame of dfl is ;",f\n{df1}\n')
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b3-ch1-3.Py(Al %) A e 2 1}

Data Frame of dflis ;

name prin micro macro mean P/F
7|2 98 82 95 91.666667 pass
100 92 80 90.666667 pass

o
=L
#

50 45 75 56.666667 fail
50 100 83.333333 pass
80 95 90.000000 pass
90 60 70.000000 pass
30 30 30.000000 fail
80 25 43.333333 fail
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65 70 68.333333 pass
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95 90 91.666667 pass

b3-ch1-3.Py(AlZ) A&l A1t

Data Frame of dflis;

name prin micro macro mean P/F grade
7|2 98 82 95 91.666667 pass A
100 92 80 90.666667 pass A
50 45 75 56.666667 fail F

Mo I

50 100 83.333333 pass B

d0

bt

80 95 90.000000 pass A

bA

90 60 70.000000 pass C
30 30 30.000000 fail F
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80 25 43.333333 fail F
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pandas 7| X| = H|AE CSV, Excel, Stata
M2 T2 RN AMESHE OO E 711

LHEE = A= 7SS MS5ta A=

o HEY Method(Import) | Method(Export)

Text IH Y (TXT) read_table to_table

csv Ik (csv) read_csv to_csv

MS Excel IH2 (XLS S XLSX) | read_excel to_excel,

Stata It (DTA) read_stata to_stata,

b3-ch1-3-import.Py & 2 Z4 1t

b3-ch1-3-import.Py

import pandas as pd

df_txt = pd.read_table("http://kanggc.iptime.org/book/data/samplel-1.txt")
df_txt

df_txt.info()

df_csv = pd.read_csv("http://kanggc.iptime.org/book/data/csv_samplel.csv")
df_csv

df_csv.head()

df_dta = pd.read_stata("http://kanggc.iptime.org/book/data/chap11-3-2.dta")
df_dta

df_xls = pd.read_excel("http://kanggc.iptime.org/book/data/score.xlsx")
df_xls

# Column  Non-Null Count Dtype
0 vyear 17 non-null  int64
1 gdp 17 non-null  float64
2 consumption 17 non-null  float64
year  gdp consumption
0 2000 635184.6 413461.2
1 2001 688164.9 460668.2
2 2002 761938.9 515616.0
3 2003 810915.3 535967.4
4 2004 876033.1 562020.2
varl var2
0 75.0 82.0
171.0 73.0
2 52.0 59.0
3 46.0 48.0
4 70.0 69.0
5 83.093.0
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50 100
80 95
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30 30
80 25
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ol & S0f PyollA s 10E2| AMAE, OJA AN, HAZEH HHS
(mean), /884 (PF) Tt S2(grade) £0{5}1, Excel C|0O|E{ T+
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b3-ch1-3-export.Py

import pandas as pd

import numpy as np

#O[O|Ef Z=af & =S|

dfl = pd.DataFrame({'name' :['A7| 2", &= A MG, ALY, 2=
'prin' :[98,100,50,50,80,90,30,80,65,95],
'micro' :[82,92,45,100,95,60,30,25,70,90],
'macro' :[95,80,75,100,95,60,30,25,70,90]})

dfl

print("Data Frame of df1lis:", f'\n{df1}\n')

# Ol ST

dfi['mean'] = (df1['prin'] + df1['micro'] + df1['macro'])/3

print("Data Frame of df1l is ;",f'\n{df1}\n')

# ZUE O[85H0] T4 57|

df1['P/F'] = np.where(df1['mean']>=60, 'pass', 'fail')
C D F G
print("Data Frame of df1l is ;",f'\n{df1}\n') micro macra mean PE
82 a5 91.66667 pass
92 80 90.66667 pass
45 75 56.66667 fail
100 100 £3.33333 pass
95 a5 90 pass
&0 60 70 pass
30 30 20 fail
25 25 43.33333 fail
F0 0 GE.33333 pass
a0 a0 91.66667 pass

e}
a
i I

dfi['grade'] = np.where(df1['mean']>=90, 'A',
np.where(df1['mean']>=80, 'B',
np.where(df1['mean']>=70, 'C',
np.where(df1['mean']>=60, 'D', 'F'))))
print("Data Frame of dfl is ;",f'\n{df1}\n')
#to_xisx JYOIZ2 X FE CIHEZ|Of X|ZE O] 52 HAne= HFF

dfl.to_excel(r'D:/Backup/BOOK/PyBasics/PyEda/code/df1.xIsx', index=False)
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% consumption®f XtH2IE F| 5}
of Igdp % Iconsumption H+-E M

lgdp = np.log(gdp)
Iconsumption=np.log(consumption).
HL-FS HAS AL ™

« 8| & S0{ df HIO|E{0f| year, gdp,

consumption S 37l H7t S A2

e df new = df.rename(columns =
{'consumption' : 'cons'} ) # consumption= cons
2 HE

« df_all = df.rename(columns = {'gdp"'y’,
'‘consumption' : 'c'} ) # gdp ™ consumption= y
o2 HY

b1-ch2-5.Py

import pandas as pd

import numpy as np

df = pd.read_excel("http://kanggc.iptime.org/book/data/samplel-n.xlsx")
df.head()

print("Data Frame of df is : ",f"\n{df.head()}\n')

# yearly time series starting from 2000 to 2016:

# df.index = pd.date_range(start="2000', end='2017', freq="Y").year
# df.head()

# print("Data Frame of df is : ",f'\n{df.head()\n')
year = df['year']

year

gdp = df['gdp']

gdp

consume = df['consumption’]

consume

#AtH2 W TGS 7|

lgdp = np.log(gdp) # numpy packaage2| log &&
lgdp.head()

print("Data of log(gdp) is : ",f'\n{lgdp.head()}\n')
Iconsume = np.log(consume) # numpy packaage2| log &
Iconsume.head()

print("Data of log(consume) is : ",f'\n{lconsume.head()}\n')

#CHY H HHLY|

df_new = df.rename(columns = {'"consumption' : 'cons'} ) # consumption= cons= =78
df_new

# 5 B LY

df_all = df.rename(columns = {'gdp':'y', 'consumption' : 'c'}) # gdp X consumption=y X cZ

df_all

3
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HlojEe| FRES FEE £ A=H 6l S0, (b1-ch2-7.py)E EH3HH 2000'4CH(2000'-2009'd)
16'd) HIO|E =&

2} 2010ACH(2010H-2016

bl-ch2-7.Py bl-ch2-7.py a3 At bl-ch2-7.py & S ZA 1}

import pandas as pd Data Frame of df is : Data Frame of dfl s :

df = pd.read_excel("http://kanggc.iptime.org/book/data/samplel-n.xIsx") year gdp consumption year gdp consumption

df 0 2000 635184.6 413461.2 0 2000 635184.6 413461.2
1 2001 688164.9 460668.2 1 2001 688164.9 460668.2
# 5 702 sub dataS 4 d 2 2002 761938.9 515616.0 2 2002 761938.9 515616.0
dfl = df.iloc[0:10,0:3] 2003 810915.3 535967.4 3 2003 810915.3 535967.4
dfl 2004 876033.1 562020.2 2004 876033.1 562020.2
df2 = df.iloc[10:17,0:3] 2005 919797.3 602345.4 2005 919797.3 602345.4
df2 2006 966054.6 643408.0 2006 966054.6 643408.0
2007 1043257.8 691740.4 2007 1043257.8 691740.4
print("Data Frame of df is : ",f'\n{df}\n') 2008 1104492.2 740804.6 2008 1104492.2 740804.6
print("Data Frame of dfl is : ",f\n{df1}\n') 2009 1151707.8 769588.6 2009 1151707.8 769588.6
print("Data Frame of df2 is : ",f"\n{df2}\n") 10 2010 1265308.0 819821.2
11 2011 1332681.0 873522.7 Data Frame of df2 is :

12 2012 1377456.7 911938.2 year gdp consumption

13 2013 1429445.4 942267.2 10 2010 1265308.0 819821.2
14 2014 1486079.3 972925.0 11 2011 1332681.0 873522.7
15 2015 1564123.9 1006005.6 12 2012 1377456.7 911938.2

16 2016 1637420.8 1047482.4 13 2013 1429445.4 942267.2
14 2014 1486079.3 972925.0

15 2015 1564123.9 1006005.6
16 2016 1637420.8 1047482.4




